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{1 Complete the following:

I3If 5 €f{3,2.x}. thenX=

2) —:-ulh::ruipmcalﬁi"

3) 4 :; minules = Seconds

4) 781 x 1000 = 78.1 x

5) 13+ 33=

6) I 7 €f2,5.x+ 3}, then X=

DIFycX then ynX=

8) Il Xc¥ then XuYs=

9 3t= 4 Tothencaresthundrodih

10) 425+61488 W AW = to the nearcst —

11) 285 hours 2. davs

12)  The diameter length of the circle whose radius 4 cm is

13) Theprobability of the cenain event is

14) The probability of the impossible event is

15) [If the probabilitv that a pupil passes en exam is -E; . then the probabilitv that this popil
fails is

16}y If Xu¥Y =0, thencachof Xand vis

17} BXUy=y . then Xny=

18) Z<=<2 then X=

199 Iff{a,.5}={b, 3),thena= o L

0 {(7.6)juf{7,8.9}=
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an
BICX=13.45), Y=123,.4),

Place the suitable symbol € or € or — or  1n the blanks.

@ 2 X @ {35 ANY
@ {32) XUY & 3 x~Y
@& @ Y 2 {23 4] X
o
a) The followng table lists the number of 120 volunteers 1|1: 3 gmhp!ﬂ make uniforms for
cleaners.

A w!unlr::r has been randomly sclecied. '|r1'|'1'lll. 15 thie probability 1o be one of the printing
groups? :

b} A truck can hold 125 boxes pfws al a time, How many imes are necded to deliver
4375 boxes I:r'- that tuck? ©

1) rl"{zj?} {‘iﬂllthmh= (2,5..0)

) If.ﬁ,ﬂh::!ungm:ln:mrctc M where M € then 1s called a (chord — diameter - radiug) in
the circle

3y 7826+ 10 1826 = 10 (or=or<)

4y {53 =155} = (£53.01,2).8,.01,2,.5})

5) Ifa€ Xthena X

6) In the opposite ligure, If the length of cach radis
m the three circles 15 3 cm, then the penmeter off
the trangle LN = em({6-9-1%8)
= Draw a circle whose center is M and radius 2 cm then draw two radn MX, MY and the
included angle between them measures 64 then draw XY and find the length of XY,
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21y WE2.5.7}n{3.7.1}=
22}  The longest chord of the circle 15
23) If =1, then a=
4y 45+ = |
43) <+ (M) = B3]
26) I{2,3}-{3.x}=2, then X=
27) If5 €(1,x, 4} .then Xx =
28) If 3€{3.2x,5), then X =
9) 19,28.37, .
31 In the opposiie Venn diagram : Av= | o
2} Ehoose the correct answer;
1) 23.4350 = to the nearest thousandth.
2) Number of altitudes of an obtuse angled wiangle is
3) M56cmany o A0 Tew
4 HoX=_ . W W
5) W72 x n.ﬂfri._:; y 0172 x 0.3
6) If = =% then x =
T de= To the nearest hundredth.
8) If M={5.2.3}n{1.5]. then M (2]
% §2,11) {set of odd numbers)
1) 4 {set of factors of 12)
1y @ fo}.
12) The decimal which is included between 0.6 and 0.7 is
13) 1945 x 1) =
14) M XcY and Yc X, then
15) 3 [2:.3}n {2.4]
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(2344 ,23.436 .23 4. 23.43)
(0,1.2.%)
(3,4,34 .58)

(X, X, 0,9)

)

(3.5, 4 _i%)

(€ .2,

(315,313 .3, 31)

(€ ;€ ,c &)

(€ ;& ,€ ,¢)

e 8 = )

(B B yE )

(0.71,059 061,072
(01945 1945 | 1.945.194.5)
(X=Y,  X.Y., X¥Y=X)
(€ € ;C .&)
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{Q1) Answer the following:

1) 653814 +63.4027 = - (10 the nearest —— )
5 BAI=-2L]l= = {to the ncarest tenth)
X 3425+ 10T)+28= o {10 the nearest hundredih)
H D568 +9= 2 {to the ngarest whole number)
- S Y '
&) The chord of a circle ts a line scgment that connecis
7 29ion= kg '

8) A box contain 24 lamps. 3 lamps ang defective.Acfamp has been randomly selecied., the
probability of getting a functional lamp =

9) If X= {2,3F, Y = {3, 53, then X VY =

1) 25-.5 hours = |1 B W Bidavs

(02)

a) The arén of a rectangle is 943 em” and its width is 2.45 em. find its length and
approximate it to the ncarest hundredth of centimeter.

by Compare:

@  046+46 [] om @ 17x17[] 39

@ 537+35 [] 537+035 @  $45+49 [] (845+49) =0
¢} A spinner is divided into 4 egual sections, B

O What is the probability of spinning the letter BY

@ Spin the spinner 400 nmes. What is the predicted number of getting letier A7

¥
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£ Answerthe questions:

Rania made some juice. She gave i of it to her nesghbor and poured the rest equally into

9 bottles. What fraction of the juice did each bottle contain?

A teacher bought a prece of cloth 10.5 meters long to be distributed equally among
excellent girls. She gave each girl a piece of 1.5 m . How many excellent girls are there?
If water 15 poured 1n a box at a rate of 1.45 liters each hour, calculate the amount of
water poured in 4.8 hours?

Marwa had L E. 60 she spent i of her money on meat md% of the money on
vegetables. How much did she spend altug:ilmr?
In a school % of the pupils are girls and 900 are hﬂ}crs,."n‘;'i-'m't 15 the total number of pupils

in this school?
Find the area of the square whose side length 15 4.06 m. to the nearest hundredth.
Hany has 30 pounds! He bought 12 cans, each for 1.85 pounds. What is the remamder
with him? |
A card is drawn at random from 10 cards numbers from 1 to 10 find the probability that
the drawn card carries:
a A prnime number.
& Aneven number greater than 6
& A box contains cards numbered from 1 to 20 .if a card s drawn randomly | the
probabality that the card number 1s divisible by 6 7
Draw the triangle ABC where AB=75¢m, , BC = 10 cm, and CA = & ¢m. , draw the
altitude from A to BC and measure its length,
Draw the triangle ABC in which: AB=6cm. ,BC=3cm. andm{ £ B ) = 60°
Measure the lengths of the altitudes of the mangle ABC
Draw a circle M of radius 3 cm. Draw the diameter AB and the chord AT of length 4 cm,
Draw BC and find it's length
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a) Draw a circle whose centre 15 M and radius is 2.5 em. then draw its diameter AR and
draw its chord AC of length 3 cm. Draw BC then find its length,
by IFU = {1,2,3, 4,5, 6}, X=[23 5}and ¥ = {3, 4 5} Represenl the sets by Venn

diagram. Then write each of the following by listing method:
a)Xuy
BXNY
c)A =T
dy X'
¢) Find the product of 58.62 x 35.2 and approximate it to the nearcst hundredih.

(04’ Choose the correct answer:

1} The number of subsets for the set {Shas .. LG (0 1,2,3)
2) If M is a circle whose diﬂﬂ1¢lﬂtis'i'_-';:_m’1:ﬂmm".'vm = T em then the point A 15 located
virirnenns ihleincke. o B ' { mside , outside , on )
3) 654 + 76 = 684+ W % (76.0.76,7,6)
3 X © Yige RO ... (XX.@.U)
5y o [0 (=-C-¢=-€)
5

a) Draw the sosceles triangle ABC in which BC =4 ¢m, and AB = AC = 6 ¢m Then, draw
perpendicular segments from their vertices o their three sides.

b} The followang table lists the results of a survey apphied on 100 spectators of T.V

Program mj News Series | FOB" | Arabic fims
jricorset ' 10 15 20 19

A spectator has been randomly selected. Find the probability of sclecting a spectator prefers:
1 Football maiches & Forcign films 3 Senes & News

() woce
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